Korean language class in MUNI

B Negation

In this lesson, we are going to study about “Negation” in Korean sentences. You will learn about how to change
verbs and adjectives into negatives.

Korean has two ways of negating. The first is to use the negatives @t[an] “not” and =[mot] “cannot,” and the

use of these negatives has the short form and the long form. The second is to use the auxiliary verb ZCt[{malda]
“stop.”

B The short form negation [t / & + predicate]

The negative Qb is an abbreviated form of OfL|[ani] “no,” as in OFL|O| R[anieyo] “no,” or 2HHO0|

OtL| 0| 2 [haksaengi anieyo] “(1) am not a student.” It is used for general negation.

The negative Z[mot] means “cannot” or “unable”.

We can make a short form negation by placing one of these negatives in front of the predicate, as shown below:

ot + verb 2t + adjective £ +verb

OF HiQ do not see o Zolr is not narrow 2 0EoQ cannot make
[an bwayo] [an jobayo] [mot

mandeureoyo]
o 7l do not go OF HIMR is notexpensive | z motR cannot sell
[an gayo] [an bissayo] [mot parayo]
o Mol do not eat oF XtotR is not small 2 1 cannot sleep
[an meogeoyo] [an jagayo] [mot jayo]
o OtMQ do not drink oF HQ is not big 2 ool cannot run
[an masyeoyo] [an keoyo] [mot ttwieoyo]
oF HIQQ do not learn of =otQ is not high z ololg cannot read
[an baewoyo] [an nopayo] [mot ilgeoyo]

Since the negative &[mot] refers to one’s ability or volition, it cannot be used with the adjectives which describe
states or quantity.

B The long form negation [-X| 20t2] and [-X] R 2]



The long form negation has the following constructions:

stem + X| &Ct
[ii anta]

+ZHo] 17|& HX| §ote

[sujani gogireul meokji anayo]

Susan does not eat meat

stem + X| & SILCt
[ji motada]

THo] A7|E BX] £ e

[sujani gogireul meokji mot haeyo]

Susan cannot eat meat

As seen above, the long form negation is created by adding X|[ji] to the stem, which is followed by a negative

SFCHmot hadal.

of

auxiliary %Cfanta] or &

Here are examples:

verb stem + X| QCH

adjective stem + X| QICt

verb + X| & 3|Ct

[baeuji anayo]

[nopji anayo]

[ikji mot haeyo]

HX| oot do not see =X oot is not narrow OIEX| 2 3 | cannot make
[boji anayo] [jopji anayo] [mandeulji mot

haeyo]
7HX| ot do not go H|MX| Qtote is not expensive x| 2 8| cannot sell
[0aji anayo] [bissaji anayo] [palji mot

haeyo]
HX| ot do not eat XX ot is not small AKX 2 e cannot sleep
[meokji anayo] [jakji anayo] [jaji mot haeyo]
OFA|X| @Ot do not drink AX|l ot is not big o 2 s cannot run
[masiji anayo] [keuji anayo] [ttwiji mot

haeyo]
H{ S X| ofg | donotlearn x| eote is not high AX| 2 & cannot read

B The negative auxiliary verb [ZC}]

For imperative and propositive sentences, the negative auxiliary verb ZLCf[malda] is used instead.

1 9312 HX| Zota “Don't see that movie” or “(Let us) not see that movie”
[geu [boji marayo]
yeonghwareul] | EX| ORMA|IL “Don't see that movie”

[boji masipsio]

HX| 2EAICH

[boji mapsida]

“(Let us) not see that movie”

ot of

[hakgyoe]

bR EotR

[gaji marayo]

“Don’t go to school” or “(Let us) not go to school”

7HR| BHYAIR

[gaji masipsio]

“Don't go to school”

7EX] EFAICE

[gaji mapsida]

“(Let us) not go to school”




Oi2 242 | HAl 2ote "Don't eat spicy food” or “(Let us) not eat spicy food”
[maeun [meokji marayo]
eumsigeul] HX| OrMAIL “Don't eat spicy food”

[meokji masipsio]

HX| EAICH “(Let us) not eat spicy food"
[meokji mapsida]

When you use ZClHmalda], you have to notice that the stem Z[mal] changes to Oma] (as in
OpM Al 2[masipsio]) and to E[map] (as in ZFA|CHmapsida]). This is due to the fact that ZCt[malda] is a =
irregular verb. In Z-irregular, the stem loses = when the stem is followed by one of the following consonants:

L, H,and A.

Consequently, the stem [mal] loses 2, as it is conjugated with the deferential imperative ending - & A| 2 [-
sipsio], and -2 A|Ct[-sipsida] (since the ending begins with A ). The other Z-irregular verbs include the verbs

like & Cl[salda] “live,” ¥ Ctalda] “know,” & Cl[gilda] “long,” and so on.

m  Exercise

Exercise 1. Change the following verb or adjective into the short form negation using the negative 2t.

Then translate the sentence.

Example: &2{|H|H S (2L} [tellebijeoneul boda]

= "HYH™S ¢ 2], [tellebijeoneul an bwayo]
“(1) do not watch TV”

(1) 4XIE (ACH [gimchireul sada]
(2) M42 (ML} [jeonyeogeul meokda]
(3) &0 (AL} [bangi keuda]

Exercise 2. Change the following verb or adjective into the short form negation using the negative =.

Then translate the sentence.

Example: X ¥3E (EL}) [gongpo yeonghwareul boda]

=

= SIXZ Y3IE X 2. [gongpo yeonghwareul mot bwayo]
“(I) cannot see a horror movie”

(1) =AM M (Z2|CH [doseogwaneseo chaegeul billida]
(2) Ot X|SHE| (=2}SHE}) [abeojihante jeonhwahadal

(3) 22 (ZLh [muneul yeolda]

Exercise 3. Answer the following questions with the long form negation.




Example: 2H{7 HO{Q? [haembeogeo meogeoyo]
“(Do you) eat hamburgers?”
= OfL|2, HX| SF0LK. [anio, meokji anayo]
“No, (I) do not eat (it)”

(1) et=0{E HiRIR2? [hangugeoreul baewoyo] “(Do you) learn Korean?
(2) Al&0] 024 Q72 [siheomi eoryeowoyo] “Is the test difficult?”
(3) I|=3 2?2 [pigonhaeyo] “(Are you) tired?”

B Conversation

ML2[sunwoo]: PtESHMR. XS & ZI&LIC} [annyeonghaseyo. cheoeum boepgetseumnida.]
Hello. Nice to meet you.
© M[eunseo]: QtEsIM Q. HI| EAZH Q2 [annyeonghaseyo. keopi deusillaeyo?]
Hello. Do you want some coffee?
M2[sunwoo]: OtLIQ, M HIE O OpMQ. &t 3+ & FA|ZI0|Q2?
[anio, jeoneun keopireul an masyeoyo. cha han jan jusigesseoyo?]
No, | don’t drink the coffee. Can you give me a cup of tea?
2 Mleunseo]: U, 017]Q. ZA| Mo Hotst 74 AztsAlLLR?
[ne, yeogiyo. hoksi jeobeone jeanhan geon saenggakaebosyeonnayo?]

Yes, here it is. Have you thought about what | suggested last time?
H2[sunwoo]: 4. 20 OtFaE XM= X & A 208, 2F0 CHE =2 HF HHM R,
[ne. geunde amuraedo jeoneun mot hal geot gatayo. yojeume dareun ildeullo neomu

bappaseoyo.]
Yes. But | think | cannot do it. I'm so busy with other things these days.

2A[eunseo]: Of, 1. YAELILE [a, geureokunyo. algetseumnida.]
Oh, I got it. Okay.

B Vocabulary

7t} [geonneodal v. cross/ go over vl T} [bappeuda] adj. to be busy T} [swida] v. rest

ol A [abeqji] n. father H 2]t} [beorida] v. throw away 2%} [sikdang] n. cafeteria
W< [naeil] n. tomorrow 1 2l [byeongwon] n. hospital A1t} [sinda] v. wear (shoes)
=7 [neutge] adv. lately Bt} [bonaeda] v. send 2T} [sseuda] v. use/ write
=¥ [doseogwan] n. library 21 [bureuda] v. call out/ sing 29| 7] [sseuregi] n. garbage
wkAITh [masida] v. drink vt} [bissada] adj. to be expensive At} [ssitda] v. wash

it} [mannada] v. meet 2]t} [billida] v. borrow 2t} [palda] v. sell

13t} [malhada) v. speak A}t} [sada] v. buy E}t} [tada] v. ride

B Sentence drill practice



<Topic: Private topics>

1. 7tE2 % 20|Lt &L 7?2 [gajogeun myeot bunina doemnikkal]
How many people are there in your family?

- (noun)2 = (counter)O|L} ElL|7}?

2. HHE2 B& 22 M 272 [nampyeoneun museun ireul haseyo]

What does your husband do for a living?
> (noun)2 £Z (noun)2 SHM|R7?

3. OFE2 0|1 E2 Q& LLCE [adeureun durigo ttareun eopseumnidal]
| have two sons, but no girls.

- (noun)2 (number)l (noun)2 (number) ¥ L|C}.

4. 7|2 LICt, / 0|2 L|Ct. [gihonimnida. / mihonimnida]
I’'m married. / I'm single.

-> (noun)YL|C}.

5. LIO|E OfF|Et= E 7t 7? [naireul yeojjwobwado doelkkayo]
May | ask your age?

- (noun)2 O{FE: E7tR?

6. S 010 A EfOILE A 20f|A Xtxt& LICH [buyeoeseo taeeona seoureseo jaratseumnidal
| was born in Buyeo and raised in Seoul.

- (place)0ll A (verb) (place)OllA{ (verb).

7. 929l ZuE EL|7H? [dangsinui jonggyoneun mwomnikkal]
What's your religion?

> A9 (noun)2 EL|7}t?

8. N 7|51 AXILICH [jeoneun gidokgyo sinjaimnidal]
I’'m a Christian.

> XN (religion) AXHL|CH.

9. 0| st LIRALIR? [eoneu hakgyo naosyeonnayo]
Which school did you graduate from?

> 0= (noun) (verb)?

10. WSS M35t USLICE [gyoyukageul jeongonghago itseumnidal]
I’m majoring in education.



B Answer
Exercise 1.
(1) AXIE 2t ALL. [gimchireul an sayo] “(I) do not buy kimchi”
(2) 4942 2 H0{R. [jeonyeogeul an meogeoyo] “(I) do not eat dinner”

H
=
(3) #O| 2 #HL. [bangi an keoyo] “Room is not big”

Exercise 2.

(1) =ZMZOAM S 2 222 [doseogwaneseo chaegeul mon billyeoyo]
“(I) cannot borrow book in the library”

(2) OtHX|$HH| 2 T38| K. [abeojihante mon jeonhwahaeyo] “(1) cannot call to my father”

() 22 £ Z0{L. [muneul mon yeoreoyo] (1) cannot open the door”

Exercise 3.

(1) OtL|, HIRX| L0t [anio, baeuiji anayo] “No, (I) do not learn (it)”
(2) OfL|2, O{&EX| Q0tL. [anio, eoryeopji anayo] “No, (It) is not difficult”
(3) OtL|2, m|Z3}X| 20tLR. [anio, pigonhaji anayo] “No, (1) am not tired”



